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General Instructions :

(1)

(i)
(i)

The question paper comprises of two Sections, A and B. You are to attempt both
the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the
tive questions of five marks category. Only one option in such questions is to be
attempted.

All questions of Section-A and all questions of Section-B are to be attempted
separately.

Question numbers 1 to 4 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

Question numbers 5 to 13 in Section-A are two marks questions. These are to be
answered in about 30 words each.

Question numbers 14 to 22 in Section-A are three marks questions. These are to
be answered in about 50 words each.

Question numbers 23 to 25 in Section-A are five marks questions. These are to
be answered in about 70 words each.

Question numbers 26 to 41 in Section-B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.
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SECTION-A / WIT-37

Name the gas which is a major component of biogas. Write its chemical formula too.

39 T o1 W fafed St i I 1 W@ wewd § | sHe Tt g7 o fafed |

A person suffering from an eye-defect uses lenses of power - 1D Name the defect he
is suffering from and the nature of lens used.
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Name the organism(s) belonging to fourth trophic level in the food chain comprising
of:
Snakes, Insects, Frogs, Plants, Hawks

11 @ e § S Sha =g O TR H ST § 39 T fafed
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Name the chemical compound which depletes ozone layer.

39 TR AT sl 9 feafed Sl STSiF a1 &9 hidl ¢ |

Mention any two trends exhibited by elements when we go from left to right across
the period of periodic table.

T TRl § R aTad § a9 S SR 9 W a5 S T #E &yt w
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“Elements in Periodic Table show periodicity of properties” List any four such
properties.
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What is meant by DNA copying? Mention its importance in reproduction?

DNA &1 Hfqepfa o+ 61 91 areqd & | TS H 3T 911 Hecd & 2

Write two advantages of vegetative propagation?

FIfIeh A= & i g oy fafed |

What is minimum number of rays required for locating the image formed by a
concave mirror for an object? Draw a ray diagram to show the formation of a virtual
image by a concave mirror.
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An old person is unable to see clearly nearby object as well as distant objects

(i) What defect of vision is he suffering from?

(ii) What kind of lens will be required to see clearly the nearby as well as
distant objects? Give reasons?
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What is dispersion of light ?

Name the
(@) component of white light that deviates the least,
(ii) component of white light that deviates the most, while passing through a

glass prism.

TR & fadTor o1 /= areqd 7 ) e % am fafed-
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Why should fossil fuels be used judiciously? Write any two reasons.

Sttareq SeHl w1 SUEN fads | Sl A e ? hiE g1 hRoT fafed |

Name the three 'R’ s to save environment. Explain any one with the help of one
example. (Write in full form)
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With the help of a diagram,explain cleansing action of soap.

== st R § WEHA H TEE H i YihaT Sl THSEA |

From the part of a periodic table, answer the following questions :

1 2 13 14 15 16 17
Lithium Carbon Oxygen | Fluorine

X P Q
Y R
Z T

(@) Which is the most reactive metal ?

(b) Name the family of fluorine Q,R,T.

() Name one element each of group 2 and 15.

(d) Give the name of the element I’ placed below Carbon.

(e) Compare X and P with respect to size of atoms.

e RO o o8 T 9 § = e T w6 S S |
1 2 13 14 15 16 17

LIthium Carbon Oxygen | Fluorine

X P Q
Y R
4 T

@) 3T 9 wo Aferen fhamiier ong b T &2

(b)  TARAX,Q,R, T il URER fohg 1 & ST 1 & 2

) g2 3R 15 & Th- 2 T 1 1M fafad |
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Draw the labelled diagram of female reproductive system. Name the organ which
provides nutrition to embryo? Where is it located?

HAHA-HIGT S O o1 AHITRd Tos 154 | 39 317 o1 9M fafed st gor &1 9ol 956
YA T | F8T Fel STafEerd B § ?

In human beings, the statistical probability of getting either a male or a female child
is 50:50. Give reasons and explain with the help of diagram.

‘Il B R A1 Wil afd W e ki wigeRdar 50:50 B €1 39 w1 o gw
T |

Differentiate between homologous and analogous organs. Give one example of each.

AN 3R GHEY 3T H 3T WY hifSd 317 YAk ol Teh 3280 S |

What are fossils? How is life of a fossil estimated ?

Strars foh shad € 2 fordl Siiarsa =i 379 o1 STT0H fohd YehR oI ST & 2

(@) Two lenses have power of i) +2 D ii) -4D

1
1
1
k%)
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What is the nature and focal length of each lens
An object is kept at a distance of 100cm for lens of power-4D. Calculate
image distance.

3 A F® e wE: (1) + 2D SR (i) - 4D ¥1 3 <G ® R AR
TG A TS |

- 4D & 9 W9 9 TR e 100 em ¥ @ @) wfafer @ gl 9@
I |

A concave mirror produces three times enlarged image of an object
placed at 10cm. in front of it. Calculate the focal length of the mirror.

Show the formation of the image with the help of a ray diagram when
object is placed 6 cm away from the pole of a convex mirror.

T 3 Ul 38 10 o X W@ 9% & THY A A STEEa wfafess
I T 1 9 0T <l Hishd T A Hifo |

Teh IO YU o g9 § 6 cm X T aK] hi i i = fRor ot gra
quAEd |

A beam of white light falling on a glass prism gets split up into seven colours
marked 1 to 7 as shown in the diagram

(@)

N U1 W=

The colour at position marked 3 and 5 are similar to the colour of the sky
and the colour of gold metal respectively. Is the above statement made by

the student correct or incorrect ? Justify.

(b)

Which of the above shown positions corresponds approximately to the
colour of

() a brinjal (iif)  Neel which is applied to clothes

(ii) danger signal (iv)  Orange

T YT G 5e foRelt e W smufad S A Ew 1 9 7 9 o el )9 O A
faunfer 21 s & (S for o | femmn T @) |
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Complete the following equations :

(i) CHs+ O, —™
(excess)

(i)  CHCOOH + CH;OH 294
(iif) ~ CHs CHOH —2 2224

Write the name of the next homologue of CH;0OH and HCOOH.
How does boiling point and melting point of hydrocarbons change with
increase in molecular mass ?

freferfiaa aeteRtor sl qu it -

(1) CH;+O, —
GELEIEIR:D)

(i)  CHsCOOH + GH:O0H — 2

HI=HySO4 |
(iii) CH; CH.OH Br

CH;0H 3R HCOOH % 3TTet Iwsid 95ed o AW fafed |
aifass gomE W gfg 3 A TRSIHEA % Faedie 3R Terie fRY YRR
gRafid 81 € ?

OR/3TraT
Define homologous series of organic compounds. Mention any two
characteristics of homologous series.
Describe a chemical test to distinguish between ethanol and ethanoic
acid.
Identify functional group in Pentanone.

Sie AMfiTehl ! FHSTAE o7t ki aftar fafed |t TS 9ol ol HiE 9
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(a) Draw a labelled diagram of longitudinal section of flower

(b) Name the male and female reproductive part in a bi-sexual flower.
Explain function of each in brief .

(a)  TH I % et FHE H TR o5 o= |

(b) TH IAAM I H R R AR S Mk AW fafed R gow w1 wE
ferfe |

OR/3TeraT

(a) Draw a labelled diagram of germination of pollen on stigma

(b) Explain the process of germination.

(@)  RETRUN I AR T SFFIOT 1 TR o 1 |

(b) ST =t Wisha 1 foeR § AR |

(@) The refractive index of diamond is 2.42. What is the meaning of this
statement?

(b) Redraw the diagram given below in your answer book and complete the
path of ray.

: \ : ‘ . . \ ! :
2F F O F 2F 2F F F 2F

() What is the difference between virtual images produced by concave,
plane and convex mirrors ?

(d) What does the negative sign in the value of magnification produced by a
mirror indicates about a image ?

(a) ‘TR STHERMIE 2-42 T’ TH HUA FH F1 ACIIE 7 ?

(b) = T3 & il 1 oToft STR-gfEaeR & A o SR whm & fRor e ay

T HI |
— | «

2 F |O| F 2F 2 F F o 2F

() T o7E0d, I0d IR IHad U0 9 T S fafers § TR T8 hiferd |
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OR/37era
(a) Write one use of concave mirror as well as convex mirror.
(b) Draw ray diagrams for the following cases when a ray of light
(i) passing through centre of curvature of a concave mirror is
incident on it.
(ii) parallel to principal axis is incident on convex mirror

(iif)  is incident at the pole of a convex mirror
(iv)  passing through focus of a concave mirror incident on it.

(a) AT qAT IAA IUVT F ST 1 Teh-Teh ST fATEd |

(b) frafafed fefai § feo fas qu SIS Stafs wewm =t fror-
(i) e YU % ofshdl s H STl g8 g4U1 W SAfad & |
(i)  T=A 3T FHWR ST g8 S 901 T SAIfd Bt o |
(iii) 3T IYOT %k YA T A 2 |
(iv)  3T9ad YU % TR H S g Y9 W rafad 7 |

SECTION - B / HT-&

A piece of granulated Zn was dropped into CuSO; solution. After some time, the
colour of the solution changed from :

(@) light green to blue (b) blue to colourless

() light green to colourless (d) light green to light blue

SMER fSish o1 Tk Zohel CuSO, & faei@ H Sl 1411 §8 §Hd o 15 faeem &1 @
gRafdd & T -

(a) Tk LG el (b)  en | A
(c)  Boh B H TEH (d) = & W Bohl Jel

A copper plate is placed in a beaker full of zinc sulphate solution. Next day when the
plate was examined, it was found that

(@) Copper plate was unchanged

(b) Copper plate had become thinner

() Copper plate had become thicker

(d) Colour of copper plate had changed

T didl sl @i s TS Tothe ¥ W st § Tl 1| 37T feq S wie sl <@ &1 a1
T T TR -

(a) THY HE UG W& A (b) A1 Wi Uae & T o |
() T &I wie Hidl & TE off | (d) S = T e T AT

Acetic acid is ---

(@) Soluble only in boiling water

(b) Soluble in water at room temperature
(c) Partially soluble in water
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(d) insoluble in water

ufHfen -
(a) I I gL A H YATRAA &1 (b)  HIERU A9 % S H T §
(c) ¥ iftrr w9 § Foia B (d) ¥ H AR B

The odour of acetic acid resembles that of

(@) rose (b) burning plastic

() vinegar (d) kerosene

wffesh o7 i Ty ferdt 8-

(a) TS R TG (b) ST AR I T H |
(c) TE=HTIH (d) U = T )

5 mL of acetic acid was added to 5ml of water and the mixture was shaken well for
one minute. It was observed that :
(@) turbidity appeared in the test tube

(b) acid formed a separate layer at the bottom.
() water formed a separate layer at the bottom.
(d) a clear solution was formed

5ml S " 5 ml tfafesw s foeman man 2R fagor = e=s1 Te 9 & fome o= feamn
T | 9% <@ T Toh-

(a)  TREE H gYeraE o1 |

(b) 3 I Teh T WA deil | & g |
(c) ST %l Tk ST WA qeil H o T |
(d) Tk wE foerad oF T

While finding out the focal length of a convex lens, Ashok kept it on a stand on the
optical bench at 10.5 cm. He adjusted the stand carrying the screen to obtain sharp
image of a distant tree on it and finally got it when this stand was at 20.8 cm on the
optical bench. The focal length of the lens is -

(@) 10.3 cm (b) 10.5 cm () 20.8 cm (d) 51cm

T I AH hI FIREGH T H F TART H T 7 T8 Toh WIS W o N 39 Th

TRITR o T 10.5 cm % foed W @1 | i 399 39 wue & {59 W e o o9 39
TS fohan difer T Y 947 1 T8 Gfafend YT 81 Teoh | 3T<d: o9 RU€ 20.8 cm
W T A BRI W WL Fafers Y & T | AT 6 il &

(@) 10.3 cm (b) 10.5 cm () 20.8 cm (d) 51cm

Ritu obtained a distinct image of a distant tree on the screen with the help of a
concave mirror. To find focal length of the mirror she shall have to measure distance
between-
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mirror and the tree

b screen and the tree

C mirror and the screen

(d) mirror and tree as well as between screen and the tree

g 1 T e 981 o1 T T8 gfdfors Teaa g9l o §RT 9T foRat | S9OSR wiehd g
T H % T 58 g gl aroHt vt -

(a)  TUU AR &I & A=

(b) T R g F A=

(c) <Y R BRF % o=

(d) T AR &I T BhA IR g&1 & o |

a

o~~~
~— T —

A teacher obtains distinct image of a distant tree on a screen with the help of a
convex lens and then asks her four students A,B,C, D to describe nature and size of
image. Answers given by them were

(A) virtual, inverted, smaller than object

(B) real, inverted, smaller than object

© virtual, erect, same size as that of object

(D) real, erect, same size as that of object

Correct answer was given by

@ A (b) B @ C d D

T AT A Tk L Fead g&1 o1 w08 giafars 3 o9 i 9@ 9 A | 9 foa
3R 3T 9R BEI A, B, C, D @ gfdfers =t yahfa, feafq i agst sam & foe wvet1 376
g fod U I & -

(A)  wfdfers s, STt iR 9% § BT 81

(B)  wfafers aTfaeh, 3eeT SR 3% ¥ BT |

(C)  fafera s, e R 3% & SRR TES A ¢ |

(D)  wfafers arfaeh, Ten SR 9% % SRR 9IS &l ¢ |

T S g gri femn T I © -

@ A (b) B @ C d D

Four students A, B, C, D traced the path of a ray of light through a glass slab as
shown below. Who has traced the path correctly ?
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The student who has drawn correct path is.
@ @A) (b)  (B) © © d (D)
IR BE A, B, C, D 4 T Sid ol UfgehT I WhIT o T Tl TG fohdT | 37k FRT AT

o frr & -

L
(A) \(B) \
© (D)\‘
e eI wE e se © -

@  (A) (b)  (B) © (© (d D)

After performing the experiment of tracing path of a ray of light through a glass slab,
four students A,B,C, D measured angle of incidence and angle of emergence and
worked out the relationship between the two as

A-zi=Le B-ZiZe C-4si>/Ze D-«i=1/Ze

Correct relationship has been obtained by



@ A (b) B ¢ C (d D
Teh 1= i gt A o 9Tl TR o 99 1 3G Wi & o IR 35 A, B, C, D 7
A9 i, TR fia hIol o1 A1 3R Sk sl Ty Tenfud foran i for 39 g o -

A-Li=Le B-4iZe C-4i>Le D-«i=1/Ze
HEY Ty Tfaq forw B 3 fR ag § -

@ A (b) B © C (d D
Shape of amoeba is

(@) Regular (b) Ever changing

() Regular as well as everchanging (d) Oval

T ot STTRTd Bl @ -

(@) frafra (b)  Haa ufEfdd 2t g8

(c) Trafha wa waa 9Rafdd el g8 (d) =R

In binary fission of Amoeba

(@) Cytoplasm and nucleus divide at the same time.

(b) Cytoplasm divides first and followed by division of the nucleus.
() Neither Cytoplasm nor nucleus divide.

(d) Nucleus divides first followed by division of cytoplasm.

syfren ¥ fwed ¥

(a) IR 554 R Fger T & g9 H fawifora g €

(b) IR Zo4 HBel FawIiTa Bl @ ST Sk oG shseh fawIfSId Bl & |
(c) T IR 554 3R 7 & hrgeh (A Bl © |

(d) = e fauife B & SR Suh WG hifvreRT g fafe g 71

A yeast cell in which budding occurs, can have:

(@) One bud cell (b) three bud cells

() Two bud cells (d) A chain of bud cells
T A T RIfTeRT e qeper a1 & 398 21 Hehdl / Tkl § -

(a) Tk Pl IR (b) I e ShiferenT

(c) = HqEH ik (d)  TFA FIRTER 1 S@

Given below are some of the diagrams drawn by students.

o
®© @®

*®
%O

A B C

Which of the above figure does not show budding
@ A (b) B © C (d D
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Which of the following set of materials is required to set-up an experiment to
determine the percentage of water absorbed by raisins?

(@) Raisins, beaker of water, blotting paper, weight box, balance.
(b) Raisins, beaker of water, blotting paper, weight box.

() Raisins, beaker of water, blotting paper.

(d) Raisins, beaker of water.

forefaell & g Tanfod Sial sl Sfderd | I1d 6 o fau f= & 9 9 91 yEifies 8
39 T Y SATEIRAT BRI 2 —

(a)  formifHel, STeT § 0 S, STRIERg TS, YR-sied, el
(b)  fReIfHel, ST 9§ 90 sy, @RI HETS, YR-s

(c)  Toruifie, Siet | w0 SRy, TARIEE TS

(d)  forerfiel, S 9 w3 st

If x represents weight of soaked raisins and y represents weight of dry raisins then
by the formula

xyy X 100 which is a way to calculate percentage of water it soak raisins, we get
percentage of water.
(@) absorbed by raisins in hypertonic solution
(b) absorbed by raisins in hypotonic solution
() lost by raisins in hypotonic solution
(d) lost by raisins in hypertonic solution

afz x o gy Frufel @1 9N, y I Ui R A d, Y x 100 & S FE

fmﬂﬁnﬁmﬁqﬁﬁwaﬁmwmw%mwwgﬂﬁwgﬁ%—
(a)  SAfquuERe Sl foeras o feruifheil o gr1 SAeenfe siet oht gfaerd A |
(b)  STHIHL et forered | fehwifasll o ST STarenfve et i Wicsid A |
(c)  Afauusw gl foeram o feruifiel s gra fremifad s/t <t wfcerd ||
(d) STl e foered  ferifastl o Ry fFrenifia Ste oht faerd w1 |
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